TemBreak TemBreak @ TERASAKI

Innovators in Protection Technology
/—kE1—ZXTlL—%

HIREREAE

Instruction Manual for Moulded
Case Circuit Breakers

R (Types)
- BEIEWH (Fix Types)
E250-SCF S250-SM
E250-SF
§250-SF
- WTEREER
(Adjustable Thermal Magnetic Types)
E250-SCJ
E250-SJ
§250-SJ

ALY FF4ARAAZRI AR
HiREHEAS

Instruction Manual for Switch Disconnector

R (Types)
S$250-SN

AFAER,IFERICEDZADSFLTATCARELTTEN ABISENTOEVEREL,
RUBES1-BHRWNCE->TECZBEICEL T B E—BETEEVEE A,

Please retain this manual for future reference.The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

TSRS\

T547-0002
ABRHFEF X INER6-13-47
TEL 06-6791-2756

FAX 06-6791-2732

http://www.terasaki.co.jp

TERASAKI ELECTRIC CO., LTD.

6-13-47 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL +81-6-6791-2763
FAX +81-6-6791-2732
http://www.terasaki.co.jp

kiki-info@terasaki.co.jp int-sales@terasaki.co.jp

2G0947SAE (KRB-0603e)

NREEDTEE

FE L (MR AR ORI LT ABEZOMOM BEEE STEAEX RO, T2 O
BRECIEEEORTCCTHL IS BIIE TV, CORBHAETE, T EHED
S k[ R EBIELTRALTHVET,

TRV EES B AL BRERRESRY A TR TR 155 21 3 AIBEEY
BEINBIHE,

BBV EES - BEIC ARERAFEYATC FRENBECEIEEZIS
AEEMS BES N BI5E,

£, ICRHLAFETH RRICE - THRERERBRICEV OXBEYHNET,
WENLBEELRETT O TBTTF->TTFEL,

BRI EDIE (RLICHELEZBOFMTEIEH 4O/ EBBLTTEL.)

A EE

BERIFEEFERE (BRIEL) FToTTFE,

OB, ZRBENER,EEMIX IS GHELERFREBEICHKBELAVTTAL,
KKEDRERREL 7V, EEICEELEVWEZhD H)ET,

@I, V) ) HMEEDEYRURMAKEEN TL—HREBICASHEWVLDIC
BILTTEW KEDERREL 70, REEDHZTNA HIET

@t LIEEl, FAITL—h%EEO (OFF) 1L, TEBEL TV AW EEERL TIT> T T AL,
BEDBINDHIET,

Q4B ITL—HDIBE ZHEAFRD PRIV INBICERLTTFIVBERT
B TICAKDRERELET,

@i TR UIHMZERF NIV TRRISHF I TT IV MKDERERIET,

@5 T U DTS R ORI T 28I EE L H
MOSEVEINLTFEV IR FEANDBALIGANE,  #7
KEDBEZND HNET,

QXA L —HERAIOEEERE I, TL—HiFE
FTLTHBLTT IV, F N7 P REBESN TO BB R EAL, g T —T%T
WFNVTEELDETIRRL TT SV, A A LIERETRBIETIH LN HVET,

@7 —UHZPHOAIIHN BNWTT =T AN—X (IIRIEEE) 2+ FERL T TV R T

EHEVEEDHIET,

BERENER

A Tk
QiE FERICHN EVWT TV, RED S TN HYET,
A EE
@5 B E0IThY Y GEN) LB & FEERWBRLTASASRLE | (ON)IELT

TEW XER (BRER) EEMLABER,TL—HERRLTTEV, KKD
BN HNET,

WFF - RREDEE

AN EE
@R T Rk, BFIRBEER T AN ToTTEN,
@RTF sk, R TL—H5EEO (OFF) ICL, ZEBLTWAENWZEERERL TITH>T T AL,
BEDOHIIAYHIET,
@i 71Ul EHRNAZER TV THEULEOL TT SV KKEDRRELNET,

BZOHmOEE

- ABEBO)—NRERH> TRBEVLEVWT TSV  BEORRLEVET,

c TL—HDEFEDOHN—BREIENT TN SR REERIAECEE LA,

LA ERTIERPAFIERERICEL L HAEOODEFEAL TTEL,
WEES NSV E RBEBERVBHAD BTN HIET,

[1]Safety Notices

Be sure to read these Instructions and other associated documents accompanying the
product thoroughly to be familiarize yourself with the product handling, safety information, and
all other precautions before mounting, using, servicing, or inspecting the product. In these
Instructions, safety notices are divided into "Warning" and "Caution" according to the hazard
level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

M Mounting Precautions
(For detailed mounting dimensions, refer to the TemBreak2 catalogue.)

A\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an
over-current may hinder the product from tripping, thus resulting in a fire.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and &4 [reano o
after conductor connection, do not apply excessive 5;5,153;9%% 4 =
force to the terminals. Otherwise, a fire may result. on

@For front-connected breakers, Insulate all bare
conductors of the line side until the breaker end. If interpole barriers are packed, be
sure to use the barriers; moreover, insulate all bare conductors by insulating tape or the
like so that the tape overlaps with the barriers. Insufficient insulation may result in short-
circuit.

@Do not block the arc gas vents of the product to ensure adequate arc space. Blocking
these vents could result in failure of circuit interruption.

or
insulating tape

MHandling Precautions

/A\Warning

@Never touch terminals. Otherwise, electric shock may result.

/A\ Caution

@When the breaker trips open automatically, remove the cause, then return the
handle to the |(ON) position. Should a fault be interrupted, the breaker must be
inspected. Otherwise, a fire may result.

HMaintenance Precautions

/A Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result.

@Regularly check that the breaker terminal screws are tightened to torque values
shown within this manual, failure to do so may result in fire.

MOther Precautions

* Do not carry this product by accessory leads, as this may cause damage to the
product.

+ Unauthorised opening of the breaker cover will invalidate product warranty.

* When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequate cross sectional areas may cause false tripping and overheat.

ABW—E HEELLEADIR Packaged ltems/Assembly Tools

IR AR E
(XE)
Instruction Manual: 1
(This document)
JL—4 .
Breaker ° 1 BFNUT (FCOH)
A FF 42 Interpole Barrier
227 g =" (Only FO)
Switch Disconnector op:o
3P:2
4P 1 3

X Type

i/ 250AF
Connections/Poles # Bt # L

Qty Mounting screw Qty Connecting screw
*@EW (FC) ® 2 ® 4
Front P2 | wxs g [ 5| uexan g P
Connection I ] P 3 ’
=&y (Re) || ? 2| 4
Rear 3P 2 M4X55 M 3P 6 M8X25
Connection P ] P 3
ZIAT (PM) 3P 2
Plug-n | I —
Connection 4p 4
AT (FP) ®| 2 ®| 4
Flush Plate 3P 2 M5X15 3P 6 M8X25 W
Where Applicable [7p 2 1) 3

e S &GO

* XAy FTF 4 A% 7 2S250-SNIE, 3P, APEDAEL ) ET,
+ S250-SN of Swich Disconnector are only 3P and 4P.

R{ELE{E Operating Instructions

TRIPPED
INRIV @
Handle
| K)oy TR E
Trip Button I~
(ON)
(OFF)
1B{E N2 RIVRER I
Operation Operation effort N
O(OFF)= | (ON) 53N
| (ON)= O(OFF) 57N
TRIP= O(OFF) 91N

4| ERfIBMmMDEM  Fitting Internal Accessories

EBRAVF Alarm Switch
T2ALOOL

HWEIATYF  Auxiliary Switch
ToAXOOL

BEESIAL REBESISL

Shunt Trip Undervoltage Trip

T2stool’| | T2uvool’| |

*ffREBOEES
* Symbols of Accessories
J>7'<%—% Ring Mark
RN F ERA(VF
Auxiliary Switch Alarm Switch
alEh bER | aA | bER \\
a contact b contact | a contact | b contact \

11/AXc-14AXa

21/AXc-24AXa

T1/AXc-12AXD ’
21/AXc22AXb | 91/ALc - | 91/ALc -

31/AXc-34AXa

31/AXc-32AXb | 94/ALa | 92/ALb

41/AXc-44/AXa | 41/AXc42AXb
BESISNLEBR TEBESINLVER
Shunt Trip Undervoltage Trip
power source power source
C1-C2 D1-D2
HAEYE inati -
HAE Combination T HEaOERE
LTL] N * Symbols of Accessories
| ON) 1 (ON) EIRE| & H LS DE oL
wan | @ e i
% I IH Q DI I IH Q H " Pull Out Leads on Load Side Removal
a S S L] L = [
O(OFF) O(0FF)
[1] [1]
LTI LT
| (ON) S

2 8}

o oA

g 1L & TiRE R

O(0FF) ¥, Form the cable
11

HEIZAyFH1D (£7-432D) M 3158,

ERIDSIEF I TTFI,

In case of fitting one (or two) auxiliary switch,

fit in an order from a left side-slot.

- (RS E, LT ERICEIET I EERBL TS, JERTE,
+ After fitting, verify the function of the Accessory.




FERTER

(6] &{FERfTESE 18AM Breaker Mounting Procedure for F.P ( Where Applicable )

[BiEMREES REW - 1BAK

Rl - Rm Conductor Connection Procedure for RC / F.P ( Where Applicable )
Breaker Mounting @
Procedure for FC/RC ©) HIEE%TE Arrengment Set (0°,45°,907) N
S g ® # M
a - (e
@9@ ,.@© ’3 L
.:;213:::'/4 1
)v® @@
EEAZ R
9 Frat Bar Stud
B T2RP25L %S
*:2, 3 or 4 (1B Poles)
T35y 27— F
Flush Plate M6X20 mm
T2FB25S * I 7eTiam
. = mm
*:3 or 4 (182 Poles) MEXZ5
11.8~186N-m
U SFEERSR REW PN L ARFEFREER FEAK
Conductor Connection Procedure for FC Solderless Terminals Mounting Procedure for FC
J
B Fi )
T, R2
T2FW25L *
e aten %12, 3 or 4 (183 Poles)
Flat Bar @ @
T2FB25L * S ,§¢“
T2FB25L % W ® EE* vy 7
%:2, 3 ord (183} Poles) Q :R} End cap
P SR SN RO &
78~12N'm 0| =z2mm
@ M10X25 Pl =120mm o]
2.5~37.2Nm Q] @19N'm °
R M6X20mm P
BREAOREHRL, TP EEECE TERLTTFAL, 6.9~93N'm
-Insulate all bare conductors of the line side until the breaker end. ‘ 2G0947SAE (KRB-0603e) R2

AFMARE EAW

Breaker Mounting Procedure for PM

EABfIA
Plug-in Base

T2PM25LE *
T2PM25LC *

%:2, 3 or 4 (1551 Poles)

</

s M4X65
1.3~17N+m

ABFEDIGZE. BT L IARELNET,
For 4 pole, use the 4pcs mounting screw.

B LI OFEFIBTITVWETS,
* When removing, remove the items in reverse order of mounting.

1 $mF/N) TRAES
Interpole Barrier
Mounting Procedure

_—]

wFNIT
Interpole Bartier

T2BA25L * S
*:2, 3 or 4 (18 Poles)

* BALIRBUF OB FIETITVET,
* When removing, remove the items in
reverse order of mounting.

mFHN—BIER
Terminal Cover
Mounting Procedure

WFAN-Oy 7
Terminal Cover Lock

T2CF25LL

=Y
Wz

R TN~
Connection Terminal Cover
- T2CF25L % SS
Front Clgcnnected T2CF25L * SL
o T2CF25L % SW
3N
Rear/Plug-in Connected T2CR25L *
(RC/PM)

%12, 3 or 4 (#6%] Poles)

» BALIBBUF OB FIETITVET,
* When removing, remove the items in
reverse order of mounting.

O (OFF) B
Holding O (OFF)

N RIVRIVE
Handle Holder

T2HH25L

» B VIS DB FIETITVET
* When removing, remove the items in reverse order of mounting.

AIFAEH Adjustable Thermal Magnetic Type
(/=k1=X7L=hM0%) (For Moulded Case Circuit Breaker)

So_llsh) () -2
@ 7 n S.@
1 " 063

1

- AIEREET 3B R T R T T,

14y Fvay 7B{IEM#E Handle Lock Mounting Procedure

NeRVay g
Handle Lock

T2HL25L

- APRLAY7E, | (ON),O (OFF) IBDWFh THB I TEET,
+ Handle lock can be fitted in any position of | (ON) and O(OFF).
« B VIS I DB FIETITVET

* When removing, remove the items in reverse order of mounting.

Bh{E451Edi4R Time / Current Characteristic Curves
(/=ka—ZX7FL—=HMD#) (For Moulded Case Circuit Breaker)

THRERISAZHERRTE T ¢ Under bar is default setting.

A 06308 1 XIn 06308 1 X/n

- [
/r Adjustment Range /r Adjustment Range

/i Adjustment Range /i Adjustment Range

6 810 13xln [ 57 9 1ix/n |
(In=100, 125, 160, 200A) (In =250A)

- AIEREET 3 BS R F ER& T T,




